1.
Pleurotus belongs to which kingdom?


a.  Archaea


b.  Animalia


c.  Bacteria


d.  Eukarya


*e.  Fungi


f.  Plantae

2.
Brassica belongs to which kingdom?


a.  Archaea


b.  Animalia


c.  Bacteria


d.  Eukarya


e.  Fungi


*f.  Plantae

3.
Tenebrio belongs to which domain?


a.  Archaea


b.  Animalia


c.  Bacteria


*d.  Eukarya


e.  Fungi


f.  Plantae

4.
Pleurotus belongs to which phylum?


a.  Arthropoda


b.  Ascomycota


*c.  Basidiomycota


d.  Chordata


e.  Magnoliophyta (Anthophyta)


f.  Pinophyta (Coniferophyta)

5.
Tenebrio belongs to which phylum?


*a.  Arthropoda


b.  Ascomycota


c.  Basidiomycota


d.  Chordata


e.  Magnoliophyta (Anthophyta)


f.  Pinophyta (Coniferophyta)

6.
Brassica belongs to which phylum?


a.  Arthropoda


b.  Ascomycota


c.  Basidiomycota


d.  Chordata


*e.  Magnoliophyta (Anthophyta)


f.  Pinophyta (Coniferophyta)

7.
Which organism(s) is(are) capable of photosynthesis?


*a.  Brassica

b.  Pleurotus

c.  Tenebrio

d.  Brassica and Pleurotus

e.  Pleurotus and Tenebrio

f.  Brassica, Pleurotus and Tenebrio
8.
Which organism/organisms has/have mitochondria?


a.  Brassica

b.  Pleurotus

c.  Tenebrio

d.  Brassica and Pleurotus

e.  Pleurotus and Tenebrio

*f.  Brassica, Pleurotus and Tenebrio
9.
This organism is an ingestive heterotroph.


a.  Brassica

b.  Pleurotus

*c.  Tenebrio

d.  Brassica and Pleurotus

e.  Pleurotus and Tenebrio

f.  Brassica, Pleurotus and Tenebrio
10.
This organism is an absorptive heterotroph.


a.  Brassica

*b.  Pleurotus

c.  Tenebrio

d.  Brassica and Pleurotus

e.  Pleurotus and Tenebrio

f.  Brassica, Pleurotus and Tenebrio
11.
This organism undergoes incomplete metamorphosis.


a.  Brassica

b.  Pleurotus

c.  Tenebrio

*d.  none of the above

12.
Which organism/organisms has/have alternation of generation?

*a.  Brassica

b.  Pleurotus

c.  Tenebrio

d.  Brassica and Pleurotus

e.  Pleurotus and Tenebrio

f.  Brassica, Pleurotus and Tenebrio
